Q&A at the Conferenc e on Financial Results for Second Quarter FY2018

Question Answer
Q1 Al
What is the root cause of the deterioration in the Rolling Stock business? The domestic market is saturated and strong competition continues, so we

need to maintain overseas markets, especially the US market where we have
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Question

Answer

Q9
How did you calculate the losses related to Trent 1000 which was recorded in 2Q?

In addition, is there any possibility that add itional losses are recorded?

A9

Basically, we calculated the losses based on the figure that Rolls Royce
announced in financial results for the first half. They recorded 554 million
pounds as temporary expenses, which is their burden charge, and we record
the corresponding amount as our burden charge in 2Q. We recorded huge
temporary expenses this time only and will recognize these expenses as part of

Total Care Package going forward.
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